HY A fdt BEHE R
= ¥ 4 /NS B BB A
% Bk LY
AFfL# B SR6F4H11H LR 100
F & i K 1,770, 712 (N{EEBL 160, 97419 )
HALEE 57 B U3 - I T R A T 1604
W75 H B E# T 240
& 1T #1 M SF6E4H12H ~ 65 H3LH
i &8 1,287,000  (N{HEBL 117,000/ )
O TRE SF6E4H12H
B4 K% T i HE 44 S A AFL O E M B 5 B 8 ko BEIC XL B
M =
(AFLEEE L, HERIREOEEETT)
% PR - R E] o2 A %03 A {iid =
(/A F B 1,217, 000[T]
PRy — e 1,173, 240
IR e = o= [ & ]

T — & — 2 (H) 1, 337, 6801




HYEA ZELFER
T X 4 7 — VESH) A
B Bk LY
AFfL# B SF64E4AA 11 A LR 100
F & i K 3,595,240  (NEEHL 326, 840 )
% AL EE 7 B VR LI AT 3 T H 2 2 %4
IR
& 1T #1 M SF6E4H12H ~ S6E6H 141
% . &% 3,470,500  (NiEEBL 315, 5009 )
O TRE SF6E4H12H
B4 % t e Bt AFL O E il B3 5 EME 8 o MEIC X D
M = RERELEZEDOT-D
(AFLEEE L, HERIREOEEETT)
% PR - R E] %2 |4 % 3 |4 {iid =
CIRYE e 3,155, 000[1] [ % #L ]
BV R CR X E S [ 5 58 )
B = A3 m ot [ 5 32 )

b b L REHH [ &




